
Previously Relaxation methods to get
-

Rate constants
Kf

Derinc A B
Kb

-f + kb)t

[A] - [A]eg =([A]
, -[Abeg)e



--it ket
-----

key = [Bey ke
I

[A]eg Tb
also

&CAT-

->
[B]↓

-0 o



Relaxation experiment
I let it to

go
eq.

② change conditions (P
, T)

What happens in a T-jump experiment
- 16%T EtHirt + =Key = e I

e

H° 8 exothermic
expect more

A B(+ q) A less B



-Ho, opposite
14)

+Hexothermic (
=
To -fit this

,
we get

Bleg
- - --

B - Y kf
, kn

I OB - (T= T
,)

*

-
- [B]eg=T, To

o

(add heat)



1A(H = 2A] - CATe
XB( + ) = [B] - [BJeg

d - (kf + ko)

-t(kf+kb)
XB = XB(0) e

assume If
,

kn don't change with

temperative



of rate constantsTemperaturedependence

k = Ae
- Ea/kT

(Arrhenius' Law)T
activation

E
is every

kf =A- Eat/kxT
--
-

Jea = Beta/stIW
-treatsproducts



Get Ea?

plot Ink US slope is-ta

Somethines ,
not a straight like

k = a TMe-Ga/ksT

prefactor depends on how fast things

cn more in the reaction
,

&

how fast barrner is crossed



An example : Kramers' theory
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ReactionMechanisms

strilly of elementary reactions
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links mechanism steps

A B Q

A+ C = B + C ② - catalysis

ecquy = ro ke'[A]eq = kp'[B]eg
-= = - kf[Alegeg= 140CBS B

divide equations
:

It



Can get some condition
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Nexttime :
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